
 

 iz”uksRrj iqfLrdk ckjdksM@QR code/ Page no.1 
SECTION – A 

[k.M & v 

      iz”u Ø- 1      bl iz”u esa 15 vfry?kqÙkjh; mi iz”u gS] izR;sd iz”u dk mÙkj vf/kdre 20 “kCnks esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd 

i”u 03 ¼rhu½ vadks dk gSA 

           Question no.1  This question contains 15 very short type subquestions. Answer each question in maximum 20 words. all 

question are compulsory. each question carries 03 (Three marks) 

 

 

 

iz”u ¼1-1½ xq:Roh; Roj.k 

         Gravitational Acceleration 
mRrj  

 

 

 

iz”u ¼1-2½ HkwLFkSfr mixzg 

         Geostationary Satellite 
mRrj  

 

 

 

iz”u ¼1-3½ izdk”k rarq 

         Photo Fibre 
mRrj   

 

 

 

iz”u ¼1-4½ lksukj 

         SONAR 
mRRkj   

 

 

 

iz”u ¼1-5½ v)Zpkyd  

         Semi Conducter 
mRRkj  
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SECTION – A 

[k.M & v 

      iz”u Ø- 1      bl iz”u esa 15 vfry?kqÙkjh; mi iz”u gS] izR;sd iz”u dk mÙkj vf/kdre 20 “kCnks esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd 

i”u 03 ¼rhu½ vadks dk gSA 

           Question no.1  This question contains 15 very short type subquestions. Answer each question in maximum 20 words. all 

question are compulsory. each question carries 03 (Three marks) 

 

 

iz”u ¼1-6½ feJ /kkrq 

         Alloy 
mRrj  

 

 

 

iz”u ¼1-7½ mRizsjd 

         Catalizer 
mRrj  

 

 

 

iz”u ¼1-8½ cgqyd 

         Polymer 
mRrj   

 

 

 

iz”u ¼1-9½ thu Fksjsih 

         Gene Therapy 
mRRkj   

 

 

 

iz”u ¼1-10½ CNT  

          
mRRkj  

 

  

 

 

 

 

 

 

 



 

 iz”uksRrj iqfLrdk ckjdksM@QR code/ Page no.3 
SECTION – A 

[k.M & v 

      iz”u Ø- 1      bl iz”u esa 15 vfry?kqÙkjh; mi iz”u gS] izR;sd iz”u dk mÙkj vf/kdre 20 “kCnks esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd 

i”u 03 ¼rhu½ vadks dk gSA 

           Question no.1  This question contains 15 very short type subquestions. Answer each question in maximum 20 words. all 

question are compulsory. each question carries 03 (Three marks) 

 

 

iz”u ¼1-11½ dSeju js[kk 

          Cameron’s Line 
mRrj  

 

 

 

iz”u ¼1-12½ tSfod udy 

          Bio Piracy 
mRrj  

 

 

 

iz”u ¼1-13½ dksf”kdk 

           Cell 
mRrj   

 

 

 

iz”u ¼1-14½ izoky 

          Coral 
mRRkj   

 

 

 

iz”u ¼1-15½ GI - Tag  
          
mRRkj  
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[k.M & v 

      iz”u Ø- 2       fuEufyf[kr esa ls fdUgha 10 iz”uksa ds mÙkj vf/kdre 80 “kCnks esa fyf[k,A izR;sd iz”u 6 ¼N%½ vadks dk gSA 

          Question no.2  Write the answers of any ten of the following questions in maximum 80 wprds. Each question carries 6(six) 

marks. 

 

 

 

iz”u ¼2-1½ PH D;k gS \ bldk nSfud tho esa D;k egRo gSA 

         Describe PH and its uses in daily life. 
mRrj  

 

 

 

 

 

 

 

 

 

 

iz”u ¼2-2½ la{kkj.k D;k gS \ blls cpko ds mik; fyf[k,A  

         What is corrosion ? what are the ways to avoid it ? 

mRRkj 
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      iz”u Ø- 2       fuEufyf[kr esa ls fdUgha 10 iz”uksa ds mÙkj vf/kdre 80 “kCnks esa fyf[k,A izR;sd iz”u 6 ¼N%½ vadks dk gSA 

          Question no.2  Write the answers of any ten of the following questions in maximum 80 wprds. Each question carries 6(six) 

marks. 

 

 

 

iz”u ¼2-3½ dkcZu o blds vij:iks dk o.kZu dhft,A 

         Describe carbon and its isotopes. 
mRrj  

 

 

 

 

 

 

 

 

 

 

iz”u ¼2-4½ lkcqu vkSj viektZd ds e/; vUrj crkb;sA  

         List the main differences between soap and detergent. 

mRrj 
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      iz”u Ø- 2       fuEufyf[kr esa ls fdUgha 10 iz”uksa ds mÙkj vf/kdre 80 “kCnks esa fyf[k,A izR;sd iz”u 6 ¼N%½ vadks dk gSA 

          Question no.2  Write the answers of any ten of the following questions in maximum 80 wprds. Each question carries 6(six) 

marks. 

 

 

 

iz”u ¼2-5½ tyok;q ifjorZu ds fofHkUu izHkko fyf[k,A 

         Describe the various consequences of climate change. 
mRrj  

 

 

 

 

 

 

 

 

 

 

iz”u ¼2-6½ foKku o rduhdh ds lkekftd vkfFkZd vuqiz;ksx fyf[k,A  

         Describe the socio – economic applications of science and technology. 

mRRkj 
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      iz”u Ø- 2       fuEufyf[kr esa ls fdUgha 10 iz”uksa ds mÙkj vf/kdre 80 “kCnks esa fyf[k,A izR;sd iz”u 6 ¼N%½ vadks dk gSA 

          Question no.2  Write the answers of any ten of the following questions in maximum 80 wprds. Each question carries 6(six) 

marks. 

 

 

 

iz”u ¼2-7½ TRIMS 
 

mRrj  

 

 

 

 

 

 

 

 

 

 

iz”u ¼2-8½ izksdSfj;ksfVd dksf”kdk ,oa ;wdSfj;ksfVd dksf”kdk esa vUrj fyf[k;s  

         Differentiate between prokaryotic & eukaryotic cells. 

mRRkj 
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      iz”u Ø- 2       fuEufyf[kr esa ls fdUgha 10 iz”uksa ds mÙkj vf/kdre 80 “kCnks esa fyf[k,A izR;sd iz”u 6 ¼N%½ vadks dk gSA 

          Question no.2  Write the answers of any ten of the following questions in maximum 80 wprds. Each question carries 6(six) 

marks. 

 

 

 

iz”u ¼2-9½ ikpu ra= dks lfp= le>kb;sA 

         Explain the digestive system with diagram. 
mRrj  

 

 

 

 

 

 

 

 

 

 

iz”u ¼2-10½ Mk;fcVht bUlhfiMl ,oa Mk;fcVht esykbVl esa vUrjA  

          Differentiate between diabetes malaetus & diabetes insipidus. 

mRrj 
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      iz”u Ø- 2       fuEufyf[kr esa ls fdUgha 10 iz”uksa ds mÙkj vf/kdre 80 “kCnks esa fyf[k,A izR;sd iz”u 6 ¼N%½ vadks dk gSA 

          Question no.2  Write the answers of any ten of the following questions in maximum 80 wprds. Each question carries 6(six) 

marks. 

 

 

 

iz”u ¼2-11½ LVse dksf”kdk D;k gS \ blds izdkj fyf[k,A 

          What are stem cells ? describe their various types. 
mRrj  

 

 

 

 

 

 

 

 

 

 

iz”u ¼2-12½ letkr vax ,oa le:i vax D;k gSA  

          What are homologous & analogous argons ? 

mRRkj 
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SECTION – A 

[k.M & v 

      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

 

 

iz”u ¼3-1½ tSo fofo/krk D;k gS \ blds izdkj o blds laj{k.k ls lEcf/kr fofHkUUk lEEksyuksa 

dh ppkZ dhft,A 

          What is bio diversity ? list its types. and describe related biodiversity 
conservation  summits. 

mRrj  
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SECTION – A 

[k.M & v 

      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

          iz”u % ¼3-1½ Continued ¼tkjh½ 
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SECTION – A 
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      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

            iz”u % ¼3-1½ Continued ¼tkjh½ 
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[k.M & v 

      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

iz”u ¼3-2½ Hkkjrh; oSKkfudksa dk foKku ds {ks= esa ;ksxnku dks foLrkjiwoZd le>kb;sA 

         Elaborate on the contribution of Indian scientists in the field of 
science. 

mRrj  
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SECTION – A 
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      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

            iz”u % ¼3-2½ Continued ¼tkjh½ 
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SECTION – A 
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      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

            iz”u % ¼3-2½ Continued ¼tkjh½ 
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SECTION – A 
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      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

iz”u ¼3-3½ dksf”kdk D;k gS \ blds vo;oksa dks foLrkj iwoZd fyf[k,A 

         Describe cell & elaborate on its components. 
mRrj  
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SECTION – A 
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      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

          iz”u % ¼3-3½ Continued ¼tkjh½ 
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      iz”u Ø- 3      bl iz”u esa 03 mi iz”u gS] izR;sd iz”u dk mRrj vf/kdre 250 “kCnkss esa nsuk gSA lHkh iz”u vfuok;Z gSA izR;sd iz”u esa 

vkarfjd fodYi Hkh gSA vH;kFkhZ ftl vkarfjd fodYi dk mRRkj ns jgs gS mldk Li’V mYYks[k mRrj ls le{k vfuok;Z djsA 

izR;sd iz”u 15 ¼ianzg½ vadks dk gSA 

          Question no.2  There are 03 sub-question in the question, each has to be answerd in maximum 250 words.  All questions 

are mandatory. There is also an internal option in every question. The answer to the internal option of the 

candidates is to be made explicitly before the answer. Each question carries 15 (fifteen) marks. 

          iz”u % ¼3-3½ Continued ¼tkjh½ 
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